

Kohinoor Shikshan Sanstha Aurangabad's

Kohinoor Arts, Commerce & Science College, Khultabad

Tq. Khultabad Dist. Aurangabad, Maharashtra - 431 101

NAAC ACCREDITED (B+)

(A MINORITY INSTITUTION)

Phone :- 02437 - 241782 Website :- www.kacsck.com E-mail :- kohinoorcollege@yahoo.in kckadm@gmail.com

Ref. No .:- K.A.C.S.C.K. 2023 - 24 8020

Date: 04



3.1.1 Grants received from Government and non-governmental agencies for research projects, endowments in the institution during the last five years (INR in Lakhs).

(Index of Documents)

Sr. No.	Name of the Project/ Endowments, Chairs	Name of the Principal Investigator/Co- investivator	Amount Sanctioned	Name of the Funding Agency	Type (Government/non- Government)	
1	Studies on Biotransformation of Benzonitrile from bacteria	Dr. vaishali Harish Ajane	0.25	Dr. Babasaheb Ambedkar Marathwada University Aurangabad	Government	
	Tot	al	0.25			

Principal

Kohlinoor Arts Conserce & Science College

Khultabad Aurangabad.

DR. BABASAHEB AMBEDKAR MARATHWADA UNIVER

AURANGABAD-431 004. Maharashtra (India)

NAAC Accredited 'A'

Office

(0240) 2403114 & 121

BCUD Office

:- (0240)2403223

Registrar Office

(0240) 2403334

Fax (BCUD)

(0240) 2403224 & 2403335

E-mail

bcud.office@bamu.ac.in

Web Site

:- www.bamu.net

Telegram

:- BAMUSITY

UNIVERSITY CAMPUS AURANGABAD - 431 004

(Maharashtra) India

Ref: No. STAT/VI/RG/2017-18/ 2989-90

Date:-07/02/2018

Subject: - Research Grant for the Project "Studies on Biotransformation of Benzonitrile from bacteria"

With reference to your proposal for Minor Research Project entitled Research Grant for the Project "Studies on Biotransformation of Benzonitrile from bacteria" I am to state that the University authorities have considered the said application and sanctioned you a grant of Rs.25,000/-(Rs. Twenty Five Thousand Only) for the Research project cited above, subject to fulfillment of conditions laid down by the University for payment of Research Grant (Copy Enclosed) and on the condition that you have not already undertaken and completed the project.

The said grant will be paid to you in two installments. The first installment will be paid to you soon after the acceptance of all conditions attached to the Grants. The last installment will be paid after final report is submitted by you along with the statement of accounts supported by the vouchers and return of materials such as books, equipment's etc if any purchased out of the grant. The final reports and accounts shall be submitted on or before 31st March, 2018 through the Head of the institution or the guide.

Principal Investigators to submit year wise measurable outcome of the proposal. This should be submitted before the release of installment without which grant will not be released.

Principal Investigators should publish at least one research paper in index journal (Indian citation index for social science, humanity & commerce, management science faculty, Scopus citation index for science faculty) by the end of 1th year, failure of which the project will be suspended & grant will not be released.

I am therefore to request you to go through the rules (Copy enclosed) and according to Rule (6) give further undertaking in the enclosed from. On receipt of the same the first installment of grant will be released.

Encl: - (As Above)

Dr. Vaishali Harish Ajane, HOD & Assistant Professor, Dept. of Microbilogy,

Khohinor College, Khultabad Dist-A'bad

Officer on special duty

Plan & stat

- FOW.

PRINCIPAL

Kohlnoor Arts, Commerce Science Colle-Tq.Khuitabed, Dist. Aurangabad

Kohinoor Arts Commerce and Science College Khultabad Tq. Khultabad Dist Aurangabad.

Department of Microbiology Minor Research Project Utilization 2018 To 2020

Sr No	Particulars	Amount		
1.	Paper Printout	1050		
2.	Project Banding	1800		
3.	File Ream	210 5280		
4.	Books			
5.	Chemicals	16089		
6.	Cartilage	2640		
	Total	27069/		

Kohlnoor Arts, Commerce Science Colk., Tq,Khultabad, Dist. Autrangabad Dr. AJANE VAISHAU H.
HOD & Asst. Professor
Kohinoer College Khultabed



DR BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY, AURANGABAD

Annual Report of the Work Done on the Minor Research Project **Progress Report**

1. Proect Report Sanction Letter No.: STAT/VI/2017-18/2989-90

07/\$2/2018

2. Period of Report From:

2017-18

3. Title of the Minor Research Project: "Studies on Biotransformation of aromatic nitriles "

4. Name of the Principal Investigator: Dr. Ajane Vaishali Harish

Assistant Professor, Kohinoor College Khultabad, Dist. - Aurangabad

Grant Approved and Expenditure incurred during the period of the report;

Amount Approved:

Rs. 25,.0000/-

First Installment received:

Rs. 12,500/-

Remaining Amount from University:

Rs. 12,500/-

Total expenditure till submitting first progress report / today as following

r.	Particulars	Amount in Rs.
lo.		5600/-
	Books	3000/-
	Xeroxing / Photocopying	5000/-
	Stationary	Rs. 13,600/-
	Total	

6. Report Of The Work Done:

PRINCIPAL Kohinoar Arts, Commerce Science Colle; itabad, Dist. Asirangabad



a) Primary work done related with the project :

- 1) Data collection done related with the project
- 2) Book purchasing
- 3) Review of the related literature
- 4) Preliminary exploration with broad structure of the minor research project.
- 5) Preparation of the sketch for the research report writing.
- 6) Chaptarisation of the research work.

b) Work Done:

First part of project work, researcher collected the related literature with the topic. Planned target achieved. Purchasing books and journals related to the project etc. work done by researcher and submitted the research outcome for the publication as research paper in reputed journal, in process. The soil sample were collected from Aurangabad region and isolated the micro organisms from biotransformation of benzonitrile and selecting to the one culture for the paper and TLC Chromatography.

Submitted by:

Dr. Ajane Vaishali Harish

Assistant Professor Microbiology

Kohinoor College, Khultabad,

Dist. - Aurangabad.

Forwarded By

Prinicipal

Kohinoor Arts Commerce & Science College

Khuldabad Aurangabad

PRINCIPAL
Cohimoor Arts, Commerce Science Colles,
Tq.Khulitabad, Dist. Alirangabad

RETRO CHEMICALS & CONSULTANT

Plot No: 13 Gut No: 90/2 Sangram Nagar, Near Satara Police Station, Satara Parisar, Aurangaabd (MH)

Email: retrochemicals@gmail.com Mobile:07741000879 07276472659 9225925480 www.retrochemicals.in

To,

Dr. Vaishali Harish Ajane, HOD, Dept of Microbiology, Kohinoor college, Khultabad Dist.Auramngabad

Duplicate copy

Date: 23.12.2018

Invoice No: 079

Sr.							- 1		REF:- P.o. le	etter
No.	Description of Goods	Unit	Qty	Rate	AMT		GST	T	GST	Total
	Apption of the same	ml/gm				%	Rate	%	Rate	1000.6
	Acetic acid glacial	500 ml	2	424	848	9	76.32	9	76.32	
	Ammonia solution	500 mi	1	320	320	9	23.8	3	28.5	202.9
	Ammonium chloride	250gm	1	172	172	9	15.48	9	15.48	
_	dextrose	500 gm	1	189	189	9	17.01	9	17.01	223.0
	Glycerol	250 ml	2	460	920	9	82.8	9	82.8	1085.
6	Hydrochloric acid conc.	500mf	3	180	540	9	48.6	9	48.6	637.
7	Silver nitrate	10gm	2	890	1780	9	160.2	9	160.2	2100.
8	phenipthaline ind. Solution	125 ml	1	160	160	9	14.4	9	14.4	188.
9	Sodium chloride	500 gm	1	219	219	9	19.71	9	19.71	258.4
10	Disodium salt of EDTA	100 gm	1	210	210	9	18.9	9	18.9	247.
11	Sodium hydroxide pellets	500 gm	1	289	289	9	26.01	9	26.01	341.0
12	Sulphuric acid	500ml	3	196	588	9	52.92	9	52.92	693.8
13	Methyl orange	125 ml	2	130	260	9	23.4	9	23.4	306
14	Agar Agar powder	100gm	2	899	1798	9	161.82	9	161.82	2121.6
15	Bile Salt	100 gm	2	848	1696	9	152.64	9	152.54	2001.2
16	Erichrome Black T	25 gm	1	400	400	9	36	9	36	47
17	Ferrous ammonium sulphate	500 gm	1	360	360	9	32.4	9	32.4	424
18	authorities and a second and a	500 gm	1	296	296	9	26.64	9	26.64	349.2
19	THE PROPERTY OF THE PARTY OF TH	500 gm	1	400	400	9	36	9	36	47
_	phenol liquid	500ml	2	412	824	9	74.16	9	74.16	972.3
21	The state of the s	500 gm	1	678	678	9	61.02	9	61,02	800.0
22	and the second s	500gm	1	688	688	9	61.92	9	61.92	811.8
	and the second second second second second second			-	13635		1227		1227	16089.
	Bank Details									
Mah	arshatra Gramin Bank Satara Parsiar Aurangal	bad.			Amo	unt 8	efore Tax			635
	NO: 80023755289 IFSC CODE: MAHG0005135					Add: 5	SGST			227
_	NO: 27ALZPC0335Q1ZI					Add: (CGST		1	227
Mate	erilas sold under this bill are lab use only					Add: I			NO IL III	0
All di	spute are subject to Aurangabad (MH) Jurisdi	ction only			Pa		Freight			100
gil.	In words: Sixte					Tot			16	189

For

Retro Chemicals & Consultant

V5.12.18

PRINCIPAL Kohlnoor Arts, Commerce Science Colic. Tq.Ichultabad, Dist. Altrangabad

Reciever Signature & Stamp





ANAND BOOK DEPOT

	Dr. Voisheli Ajane Kobinoob College Khaltakad			Cash/ (Credit	
	Khall takad !	Bill No	14	45	Date: 14/	11121
r No.	Particulars		Copies	Roto	Amoun	THE PERSON NAMED IN
"	Books.		100	190	5280.	w
					7	
		100				
	FROM YOUR DAY ON THE					
	Rs! 5280/-	_	Total		5280:	-
			Discou	nt	5200	-
wor	dı	(1)	Total A		5280	0
	ived books & bill iignature				and Book Di	-



DICE INFOSERVE

We serve customer the best !

LD4, Jui building, Gurusahani Nagar, Tirupati Park, Aurangabad - 431008 9623200727

To, Dr. Vaishali Ajane (HOD Department of Micro Biology) Kohinoor Collage, Khultabad . Comments or special instructions:

23-06-2018 DATE Bill No. 022

Description	Qty	Rate	AMOUNT
1] HP 46 Black Cartridge 2] HP 46 Color Cartridge	2 1	840/- 960/-	1680/- 960/-
mount in Words : Two Thousand Six Hundred ourty Rs. Only		TOTAL	2640/-

If you have any questions concerning this quotation, contact Name, Phone Number, E-mail

THANK YOU FOR YOUR BUSINESS!

GSTIN

:- 27AOZPR7611B1ZJ

Current Account :- 35340828652

IFSC CODE :- SBIN0016781

Bank Name

:- State Bank Of India

ABOVE PRICE !NCLUDING GST

Sign

DICE INFOSERVE

ohinoor Arts, Commerce Science Cu.
To Chattabad, Dist. Autrangabad